



Navn: _____

Dato: _____ Score: _____

$$(-5)^2 + 5 =$$

$$(-8)^0 - 9 =$$

$$7^{(-1)} + 3 =$$

$$5^2 - (-6) =$$

$$6^{(-1)} + (-8) =$$

$$(-4)^{(-2)} - (-1) =$$

$$(-6)^2 + (-7) =$$

$$8 - 8 =$$

$$8^2 - (-7) =$$

$$(-7)^2 - 5 =$$

$$(-7)^{(-1)} + 9 =$$

$$(-6)^{(-1)} - (-10) =$$

$$6^{(-1)} + (-4) =$$

$$(-2)^{(-2)} - 2 =$$

$$(-9)^{(-1)} - 5 =$$

$$(-7)^2 + 7 =$$

$$(-1)^{(-2)} + 7 =$$

$$(-1)^2 - (-3) =$$

$$(-3)^{(-1)} - (-9) =$$

$$7^2 - 1 =$$



Navn: _____

Dato: _____ Score: _____

$$(-5)^2 + 5 = 30$$

$$(-8)^0 - 9 = (-8)$$

$$7^{(-1)} + 3 = \frac{22}{7} = 3\frac{1}{7}$$

$$5^2 - (-6) = 31$$

$$6^{(-1)} + (-8) = \left(-\frac{47}{6}\right) = \left(-7\frac{5}{6}\right)$$

$$(-4)^{(-2)} - (-1) = \frac{17}{16} = 1\frac{1}{16}$$

$$(-6)^2 + (-7) = 29$$

$$8 - 8 = 0$$

$$8^2 - (-7) = 71$$

$$(-7)^2 - 5 = 44$$

$$(-7)^{(-1)} + 9 = \frac{62}{7} = 8\frac{6}{7}$$

$$(-6)^{(-1)} - (-10) = \frac{59}{6} = 9\frac{5}{6}$$

$$6^{(-1)} + (-4) = \left(-\frac{23}{6}\right) = \left(-3\frac{5}{6}\right)$$

$$(-2)^{(-2)} - 2 = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$(-9)^{(-1)} - 5 = \left(-\frac{46}{9}\right) = \left(-5\frac{1}{9}\right)$$

$$(-7)^2 + 7 = 56$$

$$(-1)^{(-2)} + 7 = 8$$

$$(-1)^2 - (-3) = 4$$

$$(-3)^{(-1)} - (-9) = \frac{26}{3} = 8\frac{2}{3}$$

$$7^2 - 1 = 48$$